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During RAN1#85, the following was agreed [1] :
Agreements:
· Reselection is triggered if any of the following conditions are met
· A counter meets an expiration condition
· The counter decrements 
· Working assumption: every TB transmission (can be revisited if a problem is identified with TBs other than every 100 ms) 
· The counter is reset to a value when reselection is triggered for all the semi-persistently selected resources.
· The value is uniformly randomly selected within a range (which is independent of the TB arrivals) between 5 and 15 
· UE identifies that the TB does not fit within the current resource allocation using the maximum allowed MCS,
· FFS other triggers that may be defined by RAN2,

In this paper we discuss the working assumption regarding the counter as well as other aspects related to the reselection triggers.
Reselection counter
We investigate the performance for different periodicities of the resource (re)selection algorithm using the counters agreed in RAN1#85. Simulation assumptions not covered by consolidated agreements can be found in the appendix.
For the highway fast scenario (140km/h), we have studied the following cases:
1. 124 UEs transmitting messages with a periodicity of 100 ms.
2. 2x124 UEs transmitting messages with a periodicity of 200 ms. 
3. 5x124 UEs trasnmitting messages with a periodicity of 500 ms.
4. 10x124 UEs transmitting messages with a periodicity of 1 s.
5. A mixed scenario with 101 UEs (60%) transmitting every 100 ms, 34 UEs (20%) transmitting every 200 ms, and 34 UEs (20%) transmitting every 500 ms.
[bookmark: _GoBack]In all cases, 124 UEs transmit during a 100 ms interval on average, which coincides with the usual simulation assumptions. The results are shown in Figure 1.
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[bookmark: _Ref458781186]Figure 1. Performance in highway fast (140 km/h) for UEs with different periodicities.
For the highway slow scenario (70 km/h), we have studied the following cases:
1. 248 UEs transmitting messages with a periodicity of 100 ms. 
2. 2x248 UEs transmitting messages with a periodicity of 200 ms. 
3. 5x124 UEs trasnmitting messages with a periodicity of 500 ms.
4. A mixed scenario with 201 UEs (60%) transmitting every 100 ms, 68 UEs (20%) transmitting every 200 ms, and 68 UEs (20%) transmitting every 500 ms. 
In all cases, 248 UEs transmit during a 100 ms interval on average, which coincides with the usual simulation assumptions. The results are shown in Figure 2.
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[bookmark: _Ref458091162]Figure 2. Performance in highway slow (70 km/h) for UEs with different periodicities.
In both scenarios, we observe that the performance varies very little when we change the periodicity. Even in the case where different periodicities are mixed, the performance remains unchanged.  For these reasons, we believe that the working assumption can be confirmed.
Proposal:
· Confirm the working assumption on the counter for triggering reselection. 
Reselection due to TB size
In our contribution [2] we discuss the different options for the steps in resource (re)selection. We have observed that in its current wording, Option 3-1 is not compatible with reselection due to TB size. 
Observation:
· In its current wording, Option 3-1 is not compatible with reselection due to the arrival of a TB with size larger than what can be transmitted on the currently selected resources.
Conclusions 
In this paper, we have discussed reselection triggers. We have observed and proposed the following. 
Proposal:
· Confirm the working assumption on the counter for triggering reselection.
Observation:
· In its current wording, Option 3-1 is not compatible with reselection due to the arrival of a TB with size larger than what can be transmitted on the currently selected resources.
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Appendix: Simulation assumptions
Table 1. Parameters used for the highway fast scenario.
	Parameter
	Value

	Number of data subbands
	2 (23 RB each)

	Resource reselection algorithm
	Option 2.1 + Option 3.2

	Energy threshold (Option 2.1)
	-110 dBm

	Subset size (Option 3.2)
	50 subbands



Table 2. Parameters used for the highway slow scenario.
	Parameter
	Value

	Number of data subbands
	4 (10/11 RB each)

	Resource reselection algorithm
	Option 2.1 + Option 3.2

	Energy threshold (Option 2.1)
	-110 dBm

	Subset size (Option 3.2)
	50 subbands
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